
December 5 , 1990 W0C0MAL VARSITY MEET

ROUND I : Ar i thmet ic - P e r c e n t , i n t e r e s t , d i s c o u n t , f r a c t i o n s
and decimals

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

1. How much, in d o l l a r s , i s 100,000 % of a penny?

IT we had a 6 % s a l e s tax and you had $20, what i s the

h ighes t p r i ced taA ble item t h a t you could pay fo r and

not run out of money?

3. Find the single discount which is equivalent to successive

discounts of 2$%, 20%, and 20%.

ANSWERS

(1 Dt ) 1 .

(2 ot s ) 2 .

(3 p t s ) 3- A

Oxford , S t . J o h n ' s , S h r e w s b u r y



December $, 1990 W0S0MAL VARSITY MEET

HOUND I I : S e t t h e o r y and l o g i c

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

/. How macy sobsth sf j Mj b>T} H] have A a$ an element?

For Hese ~tf\ree s^h of rea/ numbers

R - fv ) KX<7} , S =

' n (?) u ( T n 5 / J >

5' denies H\e Ct^k/fteni 4 Set S

ANSWERS

(1 pt) 1.

(2 pts) 2. }_
(3 Pts) 3.

Auburn, Leicester, Quaboap;

3 Kyi, ?> *»<* w #K positive numbers t 6+ fearf fa0 of

are eiv*L W V 7 = ^ aa ^ + ? r u ; . List ft£ numbers

io rijht ir\ Mn-decre*s/'nj &rdtrt uvnj He



December 5 , 1990 W0C0MAL VARSITY MEET

ROUND I I I : A l g e b r a 1 - open

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

/. If ff\€ 5'Ua\ of iu>c numbers is 21 and tf\e. difference kej

f&t ~{vo lumbers 'n / / , (<//»*/ iS fie tfUepQje / / tf\* T^'o WW>€/Y f

FwJ iuo executive poit'Hvz nuliifUs «f 3 Such fkc\ He

Squzre <*i Ht I br*jer minus 1 Ones He. Smaller eg yah

re<;l Values of X Ufatk

-5-X + 3 ^ -2 ~0

ANSWERS

(1 P t ) 1 .

(? p t s ) 2 .

(3 pts) 3.

Quaboag, T a n t a s q u a , Westborough



December 5 , 1990 W0C0MAL VARSITY MEET

ROUND IV: Sequences and s e r i e s

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

/. Find He sm *f ~&e ffrsi 16

The numbers. Iff! i Vii t ^2 -forma

vfod k.

3. A 7-Urm sequence fhtrts luitL 3 QaJ Cflds uJ/tt 11.

•r -tie first "f^c iw^s} eeicL Ur/n is Hit Sum of ~H<

><? terns5. Find the sum of ~Me five

ANSWERS

(1 pt) 1.

(2 pts ) 2.

(3 Pts) 3.

Leicester, Millbury, Tahanto



December 5, 1990 W0C0MAL VARSITY MEET

ROUND V: Matrix and determinant operations

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

SL. If

Y

2 3
H 5

4

r
3

dnd
H C find a 2*2

-\3 f
5 0

God C ~ I 2
2 (

Solve jar toahix X / h AX ^ 8 - C

ANSWERS

(1 p t ) 1 .
Y -

(2

(

pts )

3 pts

2.

) 3 . * • [ iL J
Tahanto, Tantasqua, Worcester Academy



December 5 , 1990 W0C0MAL VARSITY MEET

TEAM ROUND: Topics of previous rounds and open

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM
AND ON THE SEPARATE TEAM ANSWER SHEET d P o i n t s e a c h

. (h S'-(l'r>j a Car a man typeciej -jo make o ya/n of 267c

\A/U«h tit Cur / W Cd^t f)tm< HdUJCUcr f)e r£ca,\j<zd 31SQC jess tfidn\ l)£

torched and tius f\*d a (oss *f 5% dn fit Cosi <?f Me C«r. What

UAir t/te t>rt$nyzl cost &f fUe Car ?

. In a haick of dcfethw ldy$} 26 [we MOjur defech ^^ frf f\*\,e

If O\trc 4n 25 ^ys ii\ ffi€ balck} nou b

3 £#lvd f#r y a*Ju

Find -//}€ briefest 3~dr$rf number tdhose J^ih jon* dn

' \iat fie Sum *t ^e d/qifc is 11 and tfu Sum <KF He

(f A -

. The enfr/zf at> <^z) %3 ^ o^ in lie deltar>'n*ot del- A ~

] }
f

t Sequence.

/$ equ«l 4o -% ii)fstf jit s^uorc o$- Hi* vajiKZ d &1 \jjl\i\

- ' 377 . UW is &! ?
It rs 10:06 o'clock, dn /ry \jj6hh He hi^ h^cJ is <r* IZ

turs$etishuc fofoottf (hKc I6:o7 a*d IO:o<%) rs tint next iinx? tk+l He

^ l0:dd ?
Y, Mow o\J &*s <x perron &K4t+fj t y<u,rr Ago If exfic-f-fy *x ye&r$ ago

for u/Ui in^€t n dd*r n -

Auburn, Bartlett , Bromfield, Clinton, Doherty, Quaboa^, Worcester
Academy


